N

( Trigonometry
Name:
Find all the six trigonometric ratios.
1) /L
L
sinL =
50 cosL =
tanL =
J 40 K
2) SV
9
T J U sinV =
cosV =
12
tanV =
\Y
3) /B
A
sinB =
45 27 cos B =
tan B =
B C

Date:

cosecL =

secL =

cotL =

cosecV =

secV =

cotV=

cosec B =

secB =

cot B =
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N

( Trigonometry
Name:
Find all the six trigonometric ratios.
1) /L
L 4
sinL = 5
3
50 cosL = 5
4
tanL = 3
J 40 K
2) SV
9 3
T J U sinV = 5
4
cosV= 5
12
3
tanV = 4
\Y
3) /B
A 3
sin B = 5
4
45 27 cos B = 5
3
tan B = 4
B C

Date:

cosecL =

secL =

w]| vl o

cotL =

1w

cosecV =

secV =

cotV=

Wi [ Bl |w]lwn

cosec B =

secB =

cot B =
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